APECONOMICS MC TEST OUTPUT
1.  Aggregate consumption will certainly increase if

A.  income increases and wealth decreases.

B.  income increases and interest rates decrease.

C.  interest rates increase and household wealth increases

D.  consumer confidence strengthens and interest rates increase

E.  imports increase and exports decrease 

2.  When the MPC is 0.75, the MPS is

A.  .75

B.  1.00

C.  -3

D.  .25

E.  -.25
3.   Which of the following arguments is typically associated with classical economists?
A.  A market economy is self-correcting and thus will not remain in a recession indefinitely.

B.  A market economy has stable prices and is free from inflation.

C.  A market economy requires a strong government to ensure that the market meets the needs of the people.

D.  A market economy needs only moderate assistance from the government to avoid an extended recession.

E.  A market economy eventually results in monopolies in both input and output markets.

4.  Assume a government increases both spending and taxes by the same amount?  Aggregate demand will

A.  shift to the right.

B.  shift to the left.

C.  remain unchanged.

D.  change in slope.

E.  shift downward.
5.  The aggregate supply curve will be positively sloped in each of the following cases EXCEPT when 
A.  the economy is near it’s full capacity.
B.  an increase in production leads to an increase in GDP and the price level.

C.  a decrease in production leads to a decrease in GDP and in the price level.

D.  a change in output has no affect on the price level.

E.  a rightward shift in aggregate demand causes GDP and price level to increase.
6.  According to the Keynesian Savings Schedule, when aggregate income increases by a given amount, savings will
A.  Remain the same

B.  Decrease by the amount of the change in income.

C.  Increase by the amount of the change in income.

D.  Increase by less than the amount of the change in income.

E.  Increase by more than the amount of the change in income.

7.  Which of the following transactions would represent an addition to a nation’s current gross domestic product?

A.  Ms. Smith purchases a share of stock in an automobile company.

B.  A retailer increases her stock of imported shoes.

C.  The government increases its domestic purchases of food for use by the military.

D.  A corporation sells shoes from last year’s inventory.

E.  A mother sells her car to her daughter.

8.  The SRAS curve is likely to shift to the left when there is an increase in 

A.  the cost of productive resources


B.  greater productivity

C.  money supply

D.  federal deficit




E.  imports

9.  Change in inventories is measured by
A.  production minus sales.

B.  production plus sales.

C.  sales minus production.

D.  consumption minus savings.

E.  the marginal propensity to consume plus savings.
10.  According to classical economic theory, a major problem with the Keynesian explanation of the economy is

A.  there is too much emphasis placed on the role of investment and government spending in the economy.

B.  net exports are overvalued and that skews any aggregate expenditure numbers.

C.  prices and wages are considered to be constant which is unrealistic.

D.  a true number for aggregate expenditures cannot be found.

E.  there are multiple measures of output including RNI, AE, RGDP, and RGNP.  
11.  What could a country do in order to try to reduce the value of their spending multiplier?

A.  offer incentives for people to save more of their money

B.  reduce the amount of government spending

C.  reduce the amount of investment spending

D.  decrease the amount of taxes in the country

E.  encourage people to save less money in banks  
12.  The concept of “full employment” would be embodied by which of the following?

A.  Frictional unemployment is zero.

B.  Structural unemployment is zero.

C.  Seasonal unemployment is zero.

D.  Cyclical unemployment is zero.

E.  All four types of unemployment are at zero.

13.  If real GDP is increasing at 3% per year and nominal GDP is increasing at 7% per year, which of the following is true?

A.  unemployment is increasing

B.  the price level is increasing

C.  exports exceed imports

D.  economy is in a recession

E.  government is running a deficit  
14.  The intersection of the aggregate supply curve and the aggregate demand curve occurs at the economy’s equilibrium level of
A.  real investment and the interest rate

B.  real disposable income and unemployment

C.  real national output and the price level

D.  government expenditures and taxes

E.  imports and exports

15.  The location of the long-run aggregate supply curve is most closely related to which of the following?

A.  short-run aggregate supply curve


B.  production possibility curve

C.  marginal costs

D.  aggregate demand curve



E.  aggregate expenditure diagram

16.  The formula for the spending multiplier is
A.  1/MPC

B.  MPC + MPS

C.  MPC/MPS

D.  1/MPS

E.  –MPS/MPS
17.   The best description of the real wealth affect is that as the price level increases
A.  interest rates decrease making interest earnings decrease.

B.  profitability decreases encouraging businesses to decrease planned investment.

C.  consumer’s real income decreased and they can afford to buy less output.

D.  there is a greater incentive to invest in order to sell goods at higher prices.

E.  consumers have less demand for money and interest rates increase.
Use the following graph for question number 18
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18.    Which would cause the shift in the graph from AD to AD1?
A.  the government decreases welfare payments

B.  imports increase
C.  a change in the interest-rate effect

D.  planned investment increases

E.  unplanned inventories increase

19.  If the economy is operating in the intermediate range of the aggregate supply curve and if aggregate demand increases due to an increase in net exports, then the price level, output, and unemployment rate are most likely to change in which of the following ways?

Price Level
Output
     Unemployment Rate

A.
Increase

Increase

Increase

B.
Increase

Increase

Decrease

C.  
Increase

Decrease
Increase

D.  
Increase

Decrease
Decrease

E.  
Decrease
Decrease
Increase

20.  The value of the spending multiplier decreases when

A.  tax rates are reduced

B.  exports decline

C.  imports decline

D.  government spending increases

E.  the marginal propensity to save increases

21.  Which of the following would NOT increase aggregate demand?

A.  increase in consumer confidence

B.  decrease in unused capital

C.  increase in government spending

D.  decrease in taxes

E.  increase in foreign real national income

22.  Adverse supply shocks

A.  can be anticipated and decrease aggregate supply.
B.  can be anticipated and increases aggregate supply.
C.  cannot be anticipated and decrease aggregate supply.
D.  cannot be anticipated and increase aggregate supply.
E.  cannot be anticipated and decrease aggregate demand.
Use the following graph to answer questions 23 and 24.
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23.    When income equals $4,000, consumption equals____ and saving equals____.
A.  4,000, 0

B.  3,200, 800

C.  4,000,4,000

D.  2,000, 2,000

E.  4,000, 800
24.  In this economy, the value of the spending multiplier is
A.  .8
B.  .2

C.  -4

D.  5

E.  1.25

25.  A decrease in MPS would

A.  cause the consumption function to shift upwards.

B.  cause the consumption function to shift downwards.

C.  cause the consumption function to change slope.

D.  change the value of planned investment.

E.  would also decrease MPC.  
26.  In the simple Keynesian aggregate expenditure model of an economy, changes in investment or government spending will lead to a change in which of the following?
A.  The price level

B.  the level of output and employment

C.  interest rates

D.  the aggregate supply curve


E.  the demand for money

27.  In a closed economy with no taxes in which the average propensity to consume is .75, which of the following is true?

A. If income is $100, then saving is $75.

B.  If Income is $100 then consumption is $50.

C.  If income is $200, then saving is $50.

D.  If income is $200, then consumption is $75.

E.  If income is $500, then saving is $100.

28.  If MPC = 1, what is true about any change in investment spending in the economy?

A.  It will increase infinitely

B.  The change will only multiply once

C.  100% of the change will be saved

D.  It will be multiplied by 10

E.  It will be multiplied by .1  

Use the following chart for question number 29:

	
	Country X
	Country Y

	Soda
	10
	5

	Chips
	20
	15


29.  Assume that countries X and Y have identical technologies and equal resources.  The table above shows outputs produced per day if the countries were to make only one good or the other.  Based on the information above:

A.  country X has absolute advantage in production of soda only.

B.  country Y has absolute advantage in production of soda only.

C.  country X has absolute advantage in both goods.

D.  country Y has absolute advantage in both goods.

E.  both countries are at an equal absolute advantage.

30.  If, at full employment, the government wants to increase spending by $100 billion without increasing inflation in the short run, it must do which of the following?
A.  Raise taxes by $100 billion.
B.  Raise taxes by more than $100 billion.

C.  Lower taxes by $100 billion.

D.  Lower taxes by more than $100 billion.

E.  Print more money.

31.  In general, as aggregate demand increases, employment rates

A.  decrease.

B.  increase.

C.  remain unchanged.

D.  are not connected to aggregate demand.

E.  react inversely.  

Use the following graph to answer question number 32:
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32.  Which would cause the change shown in the graph?
A.  an increase in worker productivity.

B.  new resources discovered across the country.

C.  a decrease in household incomes

D.  government enforced production limits

E.  an increase in investment in equipment and technology
33.  If an economy is operating a full capacity, the short run AS curve is ____ and an increase in AD will____.
A.  horizontal, increase GDP only.

B.  horizontal, decrease PL only.
C.  vertical, increase GDP only.
D.  vertical, increase PL only.

E.  vertical, decrease PL only.

34.  All of the following will shift AD to the right EXCEPT

A.  an improvement in overall technology  

B.  an improvement in consumer confidence

C.  a decrease in household taxes

D.  an increase in net exports
E.  an increase in consumer incomes

35.  Ceteris paribus, an increase in the domestic price level will cause
A.  aggregate demand to shift to the left.

B.  foreign goods to become relatively less expensive

C.  interest rates to fall and the quantity of investment to increase

D.  the real wealth of families to increase

E.  foreign goods to become relatively more expensive.

Use the following graph to answer questions 37-39


[image: image4.emf]PL

RGDP

AS

AD4

AD3

AD2

AD1

AD5


36.  A shift from AD4 to AD5 means what for this economy?
A.  An increase in RGDP an price level.

B.  A decrease in the price level and an increase in RGDP

C.  No change in the price level and an increase in RGDP

D.  No change in RGDP and an increase in the price level

E.  Not enough information

37.  Which aggregate demand line is the MOST desirable for this economy?
A.  AD1

B.  AD2

C.  AD3

D.  AD4

E.  AD5

38.    Assume you find out that this economy is experiencing increasing unemployment and a lower than normal capacity utilization rate.  Which shift would indicate this?
A.  AD1 to AD2

B.  AD4 to AD3

C.  AD4 to AD5

D.  AD2 to AD3

E.  AD5 to AD4

39.  Quantity of planned investment has an inverse relationship to
A.  interest rates

B.  real GDP

C.  money supply

D.  unemployment

D.  aggregate expenditures

Use the following graph to answer questions 40 and 41:
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40.  Which statement BEST describes the situation seen in this economy?
A.  They are in long run and short run equilibrium.

B.  They are in short run equilibrium that is beyond their sustainable production possibilities.

C.  Aggregate demand is outpacing aggregate supply.

D.  Long run aggregate supply is unattainable in their current state.

E.  They are in short run equilibrium with under-utilized resources.

41.  Which action below would most likely bring the economy into long run equilibrium?

A.  Decreasing the number of available factories and machines.

B.  Increasing taxes to shift aggregate demand.

C.  Imposing government controlled production constraints.

D.  Decreasing taxes.
E.  Encouraging fewer exports.
42.  The economy is definitely operating a less than its capacity if there is
A.  cyclical unemployment

B.  frictional unemployment

C.  natural unemployment

D.  structural unemployment

E.  no unemployment

Use the following information to answer questions 43-45:

Assume there is no government spending and no net exports.

	OUTPUT
	CONSUMPTION
	INVESTMENT

	2000
	2100
	400

	3000
	2850
	400

	4000
	3600
	400

	5000
	4350
	400

	6000
	5100
	400

	7000
	5850
	400


43.  What is the equilibrium level of output in this economy?
A.  2000

B.  3000

C.  4000

D.  5000

D.  7000

44.  The MPS in this economy is
A.  .75

B.  -3

C.  .25

D.  400

D.  4

45.  Which is true about unplanned inventories at every output level beyond 4000?
A.  Unplanned inventories are negative which will prompt businesses to produce more.

B.  There are no unplanned inventories in either a positive or negative direction.

C.  There are extra inventories which will prompt business to scale back production.

D.  There is not enough information in the table to answer this question.

E.  Unplanned inventories are equal to planned Investment at each output level.
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